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Part A: Vocabulary

Directions: in questions 1-6, each item consists of an incomplete sentence. Below the sentence are four choices,
marked (1), (2), (3), and (4). You should find the one choice which best completes the sentence. Mark your
choice on the answer sheet.

X 1- If | can work all day without any ......... , I can finish the job by this evening.
1) interruption 2) protection 3) Prediction 4) reaction
W 2- | arranged to meet a Mr. Jones here | hope | haven’t ......... him.
1) avoided 2) failed 3) lacked 4) missed
R 3- | hope that we will soon see the development of better ......... between the two countries.
1) attractions 2) inventions 3) relations 4) solutions
T 4- Everybody thought old Mr. Jones had no money. It was only after he died that we ......... he was in
fact a millionaire.
1) added up 2) came across 3) found out 4) put forward
T 5- Why didn’t Andrew win the election?
Well, the fact that he lied about his ......... worked against him.
1) shelter 2) necessity 3) introduction 4) background
W 6- All my life people have been telling me what to do, but I ......... to make my own decisions from
now on.
1) approve 2) command 3) deliver 4) intend

Part B: Grammar

Directions: In questions 7-9 each sentence has four underlined words or phrases marked (1), (2), (3), and (4).
Identify the One underlined word or phrase that must be changed in order for the sentence to be correct.

Then, mark your answer sheet.

W 7- His teacher gave him the encouragement that he needed to learning the material.

1 2 3 4
™ 8- No one knows with certain what caused the dinosaurs to disappear from the face of earth.
1 2 3 4
W™ 9- In order to perceive something visually, light must be reflect from the object's surface.

1 2 3 4

Part C: Reading Comprehension

Directions: In this part of the test you will read a passage followed by 6 questions about it. For questions 10-15,
you are to choose the one best answer, (1), (2), (3) or (4) to each question, Then mark your answer sheet.

Noise, commonly defined as unwanted sound, is another environmental pollutant. Particularly in busy urban areas,
the noise produced as a result of our advancing technology causes physical and psychological harm; and damages
the life of those who are exposed to it.

Unlike the eye, the ear has no lid: therefore noise goes inside without protection. Loud noises usually signal danger
to any organism with a hearing mechanism, including human beings. In response, heart beat and breathing get
faster, blood vessels constrict, the skin turns white, and muscles tense. In fact, there is a genera increase in
functioning brought about by the flow of adrenaline produced in response to fear, and some of these responses
continue even longer than the noise, occasionally as long as thirty minutes after the sound has ceased.

Because noise is unavoidable in an industrial society, we are constantly responding in the same ways that we would
respond to danger. Recently, researchers have concluded that noise and our response maybe much more than an
annoyance. It may be a serious threat to physical and psychological health and well being, cusing damage not only
to the ear and brain but also to the heart and stomach. Now we are learning that some of us with heart disease and
ulcers may be Victims of noise as well. In addition, the psychic effect of noise is very important. Nervousness,
irritability, tension, and anxiety increase, affecting the quality of rest during sleep, and the efficiency of activities
during waking hours.
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R 10- It can be inferred from the passage that, most probably, in less technologically advanced countries, ......... .

1) people do not suffer from physical harm 3) more protection is achieved against danger.

2) noise pollution is not a common problem. 4) people are not exposed to serious kinds of damage.
W 11- The word it in line 4 of the passage refersto ......... .

1) noise 2) life 3) harm 4) technology
T 12- What was probably the topic of the paragraph which preceded this passage?

1) problems of urban Areas 2) Environmental pollutants

3) Technological Advancements 4) Physical and Psychological health
T 13- According to the passage, the changes in one’s heartbeat and breathing might continue ......... :

1) for more than 30 miunte 2) even when the noise is gone

3) when he forgets his annoyance. 4) after his body produces adrenaline.

A 14- Researchers believe that being exposed to loud noises ......... .
1) encourages protection of the ear aswell asthe eye. 2)forces people to respond to danger immediately

3)will only cause more annoyance in people 4) may result in physical and mental problems.
W\ 15- The writer believes that the psychic effects of noise pollution .......... .

1) damage the quality of our daily activities 2) decrease the hearbeat and breathing

3) produce nervousness, irritability, and tension 4) do not let the brain to work during waking hours.

& 16- When an offer is withdrawn by an offeror one can say that the offer has been ......... .
1) rejected 2) revoked 3) innovated 4) capitulated

W 17- If a person kills a human being unlawfully, whether he is an adult or a child, with or without any
intention, recklessly or negligently, the act performed is technically called ......... .

1) homicide 2) infanticide 3) infrastructure 4) massacre
The agent of necessity must act bona fide in the interests of al parties concerned.

W\ 18- The statement implies that ......... .
1) the parties acts are necessary for al parties concerned
2) the agent of necessity givesthe interests to all parties concerned.
3) all parties concerned act bona fide in the interests of the agent.
4) the agent of necessity observes the benefits of all parties concerned.

In criminal cases, the burden of proof is throughout on the prosecution to establish the case against the accused
beyond reasonabl e doubt.

T 19- The statement implies that all efforts should be made to ......... .

1) be sure that the accused is guilty 2) secure the justifications made
3) guarantee the accuracy of the judge’ s judgments 4) help the accused not to be accused of being guilty

The doctrine of privity, while not an irrational inference from the nature of contract in general and of English
Contract in particular, hasin its incidence worked injustice and proved inadequate to modern needs.

T 20- The text implies that to attend the relativity of contracts is logically justifiable ......... . (
1) and irrefutable 2) and irreducible
3) but not adequate enough 4) but needs modifications in modern time.

Where a person kills or is a party to the killing of another, he/she shall not be convicted of murder if he/she is
suffering from such abnormality of mind or substantially impaired his’/her mental responsibility for his/her acts and
ominous in doing or being a party to the killing.

T 21- According to the text, an impaired partner being manipulated by murderers to get involved in an act

of killing ..........
1) isto be exempted from any punishment. 2) isnot convicted of murder.
3) needs to receive punishment like others. 4) needsto be tested before any claim ismeade againgt him.

& 22- The word ominous is closest in meaning to ......... .
1) rejected 2) threatened 3) underestimated 4) undermined
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™ 23- An evidence of a fact which the court must take as proof of such fact unless disproved by further
evidence is called ......... evidence.
1) conclusive 2) direct 3) hearsay 4) prima—facie

W 24- A diplomatic agent of a state is unacceptable to the receiving state. This is technically called ......... .
1) Bonafide 2) Defacto 3) Persona Non Grate 4) Due Diligence

A mentally — disordered person can not avoid contracts made whilst unaware of events unless it can be shown that
the other party knew of the incapacity.

& 25- The text implies that contracts made by mentally — disordered persons ......... .

1) arenot legal at all 2) arenot viable

3) can be totally disregarded 4) can be avoided under certain circumstances.
W 26- A ... contract is an obligation not created by, but similar to that created by contract, and is
independent of the consent of the person bond.

1) quas 2) unilateral 3) credit 4) bilaterd

It is quite common in international commercial contracts to provide expressly that any dispute under the contract
shall be settled according to the laws of a particular country and in the courts of that country. The country chosen
need not be one with which either party has any connection.

W 27- The word "expressly™ (line 1) is closest in meaning to ......... .
1) eventually 2) empirically 3) explicitly 4) implicitly

™ 28- The whole text implies that the two countries involved in the dispute ......... .
1) must have commercial contracts with the country named in the contract.
2) must stand by their obligations
3) need not worry about the laws of the third country
4) should not have any connection with the country agreed upon in the contract.

English judges have found, from experiences, that if one person make a clear and definite offer and another person
unconditionally accepts that offer, then it is reasonable to say that the two of them are in agreement.

There is no attempt to look inside their minds to find out what they are really thinking. it is what they say what they
do that counts.

T 29- According to the text, what ......... is a criterion for a contract agreed upon.
1) ajudge openly expresses 2) isimplied but not what is mentioned
3) one says clearly and not what one intends for 4) one present in the written form

_ 30- The text implies that a/an ......... is enough to make a contract viable.
1) unconditional acceptance 2) effort to be sure of one'sintention
3) conditional and reasonable agreement 4) conditiona approach to one’'s mind

o908 Jhodl i @si’)

30,5 J 5o ol S0 (g S 010 (Mol (ylg90 LS g0 4z j0-Y) a3
Dygme 53 Sl oty aled Jrae )b o LS5 lsieas slowisn 1o b g Wi | )0l L b upsele g5 g wls Lo O
Wgbisn Jpmie gt 5588 Lol & Ly calss
S Jse 1y T il oo e lojls b 1) cigds o il wie Jo lojle 5k 5l oyl 4 cpl 4y az g L (Y
S 1 p3Y Lyl s seie aS aims ol 1T Gl 4 Lasl Lo a5 5,0 0 (F
g5 38 0599 0L 5l S ol oes Slgie g 4 1) o wlas (F
003l 1y (g ynSsls Modlopms o520 & sl po cormdo Mol sl ylojl LT Y &S
)10,595 5 (Mo iz Sl laglejl 5l (B eals ()
18,55 @ onl 5l (Hed (Mol laplejle o528 5 ogdle il caly (¥
Sl 1) lars Ay dxzl e oMo b jgiS Ladd s (Y

WS jeazme 395 a8l sl Ay 1) o e sl Wilgs el g 1y e s (F



Ae Gyl gw 9031 ¥ gw W gl 315 S 4y iy g sl 0 f @

Sz FOrum Prorogatum sucli e go a1 (g s sls (Modl w990 Co o Y'Y a3

ols )13 1o 7 00 958 Coge 4 Glens ComMo JouB (Y CoMo fyutd )0 Cum o ()
ot b et jsb 4 Gl comdo Ja8 (F U] 595 51 o Glees Zexdlo Jad (F

ey S5 99 0,3 s (i s Sy &y (9o Jub 55 b Job 1 50 51YF T
S Tges asll ooyl g cdgs ade Wlgh o ol gguie cdgo Ladd (
Sl ) Jadlipe fSle 4y go2, 3> Ladd oayoyl; (¥
Sylaly ooy by cdgs Al (Sl 4y g42 ) 3> Ladd onyo )by (V
WS Gl 1y e ls O jlus Wilgh co sl B2k 5l Ladd enuo )l (F

Sl o b glodiy 35 51 Sy plas _¥a &S

5105 5 (JgeiS g 4y auslei o lelal s (Y ol BT loas ) die) ;o do JgudS g laclalos wglas ()

il o0l 438 3334 el o ginns Aigoy 53 15 pIAS yolro Yoot Goi 50 Y5 L
3590 4 b Gl e ,la) Bllae Sodgias ks ()
3)lge 4S5 (s s ) e Codgias 4l (Y
3)lye 4S50 (e s ,la) ralls 5l (AU Cudsians o ka3 (¥
550 4 by (o a5 eals 5l (80 Cudgtan 5 Gl (a)) Bllae Sodginns 415 95 51 G o (F

C i (o0 (5 S ool 31 Seilodyd ol ygole oolgils LT TV &

il S ypale e 498 ax a5l 3l sl e (F il S pele Jomo 458 an a8 ol by 4y aly (¥
............. ORFF 95I5d) (5595 ohladl (ot oz ot g outalne allao ¥A &S

oyl ailSlaz (53l 8 4 ks Lo salaze (glo,5557 (55,0 Laboslsm Sls 0 ()

anlas o anleie (sla oS 515 51 wloljT Al o aitl e 2lo oliie (sl s e o 5 45 daleie slo oS g0k (slalasslyn 45 (Y
505 nlite slaS 55 ] e 5,955 (slaslyn 4.5 (T

aigled jee S0 anlaie sloyeiS 513 5l wiolil axdl o (lse plate Gla gy s ;0 4T saliie glay5iS slalanlsn 45 (F

Toddmd 395 & (P guasio (o) pw U yS SIS syl 4z =FA &

ML S D9 5.]5 QS Sy Lgl)b (V ..\.ul) aSw Q9N 9.]5 Qli) Caxng 6‘)"5 (\

Sl sogos gomme (ol Syl o y0) 55 ) lybast I Kyplas _F+ &S

e Jlo plesls azogs g (F Sy ol Madliyn Hlass olad Gl (¥

CalaS ool (glyg 3 so90s @azmo o yiine e —F) &S

U5 s bl o lgps s sl o Mallyey il § el i (F s Sl oS e 5l e lolliyas el 5 b Lai (¥

ot 93 &g s 3l ol (gladlane gobasdl o o lans! diluin —FY &S

oiT by b as blaYoo b i sb,ys y5 bas (F O3T b0 b gy 5L y8 ()5 0> (A
o sl b ay hle VA b Tas as (F o1 sl b Tae Las (¥

fadyf (B gl ol a4 FY S
b bile Y 5l G o] alas 5,6 (A
il o351 4555 Sy 4 slato sl 5 058 Jobo s (Y
B sl ,9iS oyl pas g b pd a8 CueSl sleol ogdle 4y ile YF 51 i ailas 5,8 b (F
a5 Bl V¥ 5l a8 wlas 50 L slogels aS & (F



@ o 31 (ol 5 S 4y it sl ko Ae Gl g (590 3T &Y 1w

Sl g0yl Gl 0505 35 g1 olbedlooms (sl 51 Syplas FF &S
GL (f gy (F OB aaly Jle g )les (¥ Jsr Medlimm @goe (O
9 o5 o0 318 win o sl 51 51 SypIAS 5 9ken 3 530 it Jo ygiiin Gab (Hg3 5o slojl 0 S
oges gazo (¥ o Bobi> Jle b lusS (Y Sl slygl (¥ szl g soladl slyes ()
S ansl acxita Jho (55 5 IS 43 Alauily o 39> ¢ygrmmmsa F5 LS
oozl wgoladl gl (F oyes gaza (T el (6ly (¥ sl Jas ()
£ o0 T rho pogas Jelli o 33 1) Smiilr potrho 5590 plas PV B
H5ES Sy il g484 (F oy Sl yss (F JYSA G VNGV C R Slexwl oy (A
Sl 51 6l yle Wilg oo dgd T 8590 30 (e 0uslE G gl pas Ay G (g S (P il Aigf FA &5
b el 5 oo ol easls o] LSes gl 5 ol S1(Y i |y ol el iz jeie oasl b b slacdss [ST()
.»))‘».\J 6)4‘ o f‘,&‘ O (f .\....:Le 6)3)"5 IR oucld S 6‘)” C»Jﬁ») UT u,.af»)a ;‘ (V
€315 (593 5 o8 9 a5 lie 51 SIS 12 Bl 51-F4 B
Ssi> S gl (F Glasl (¥ e (¥ Slasbes ()
1 53,5 Wizko 93 b 45 (glowlro Sowlanil oo clales 3lae (s &1 13 lirgo jl 09,5 phas —8e &S
Bl s daie ,5iS Sy suiyle aalas 3,k 5 (¥ il o bee Malliyes i 00l 0asld b ()
il sl Jalliyes oi aelsd L (F il o sets 0,51 slacd b 5| S aillie [lb, 31 s (¥
S0 g0 1y sudlan cyouds ym¥le 3 51 b Lol s oublon Sy Conndd plas =) S
wles (F el Ll (¥ LS i (V A1 ()
T £ gv0 5923 by 3 95 42 (6 ol Mallers (gt o2a HRES &30 il 390 33 < JABY Jlo JF yaen oy a5 10 0F S
a.\;ﬁb&:.co..\.ml.-,ca?)odfb.b)&(\' o;&iod&@d)&b]&(\
Bas g ggdge A byo (F s 5 IS Lo (¥
S Clables Gois diws) 35 (3191359 acbinge @b lledl o lonles ads LT —aY &5
Lot Jgoidlale VAFA dolioge 1555 ¢ s (Y A (5 VAAS dsbioge &l alliyn Slaales 5l e 155 5 (A
Gl Molley Slaales a S ol (58 1479 adbinge 155 als (F ol (Mallry Slaales alS” 5,10 dalinge las 149 dslinge 15 als (¢
ol @S 245 ol guclyd acgomn sogas Jallipm ol —OF &S
ollorm slaglesls (F bede Glee daily) (¥ odss gl Ll (V- (Hhollin analr (sliael s Ly, O
Toge gy i slodniar 31 1y Jholloms Boim ol cradsl (sl ool 31 S plos —0 &S
SBls (F g9 S (¥ By ,idg (¥ Sed ;S ()

bl Goi>

145 ol gaslad as gazmo bl (56 05 &S

WS o meebat el &0 Gl o 1) po e §ed> (Y WS s redd |y (g laley Ol LS g ol lacsl ()

DS e g |y 00 e slaeolsT g el 5 cyaendi | )l lele <3 (F DS o i |y p0 e (50131 g Bgh g st 1) ) loele; 2 yad (Y
RS D 31 b g JuSi 5 mwloww ©yid i BV S

RS S S (F drol> j0 Joo 0924 (Y axal> 3L (Y oblasle; 595 (A
ol 5 905 patio ol 55 —OA L

o Lg‘d.‘>)é 9o »..)LtL‘)wl W ).o.C u,.w‘;}m) ©9 d.‘a.mlj‘s' »..)L:L"r.u‘ sW w‘;}aé BN (Y
505 el 3 jo gy ol gl 5 4B g Sl wgae (lsE s ol S 500 5 (Y



Ae Gyl gw 9031 ¥ gw W gl 315 S 4y iy g sl 0 4 @

g8 S pllsi y5 04 &S
el a8 allas b ol (pond ST g 00l g0 b cenlizte 3llae ST ()

s Goars labily slasl o 51 s Logjl a0 098 (sl SLadl lapllss o (¥
ol cand S8 b cewliie Sled )l 45500 g 168 (llae S5 b canliie sl 4 y5xa (F

25 198 S plls @ o, Yol (il 5 Slob )l cslapllas (F

(J1ysd slocdgs yo o5 BT

el yiinn 5 336 gae slacdgs 1T 5t 4 6o o Lo Slogouas ()

ol 35 05 e alan 1 5ol sl o s LSt (¥

ol Jis ailfans glsd glyls gas g o Lol oo 04z g cwll il S Ladd jquS IS o (¥

._\3)|.) MS)L'.M Jl)..xs M.ls\) Q)L)‘ PR Glm ulf_LJLQJ C,\.\}.‘a.c k3.\).|a )| ‘QSLQ )9.A| 9 A.A_AS‘SA VLQ.C JM ‘51.7(.0 )9_4\ PR 9..4:.{: L;LQ:C,JsJ (f

H(BLeSS) ool clbcdgs 4o —5) &S
it P 053 2 (e (§)58S Dlowand (Smaz 5 (S Sl (S5 Sjp0 10 ()
ol (WSS 5 (0050 1 Fn) o D9 2 (e LT LSl (F
el oS g8l 5 sl 5 s pute (¥
el 8 515 pte 5 ol 5 a5 e (F
el ol 5o 5T S
ool S 193 llan S 5 it (a3 50 Jias L5 SIS 99 18 Sledily 5 sspez s, O
DI 558 a4y Sl e @ 52 ) Hseex Sy U3 3 Olb Ll 1) sl )l Pl 3> jseez s, (F
ol olioly b japez sy 31 (oB0 sogeas a8 (¥
oyl 1y Egs pliiul > bz Jg el Slalyly 5| Jins g o (F
Sl (2 4 5l bl 9l (51 yid Slog Sy iy —FT S
Sl Ll 5l coles ()
bl Ol 5o S o (¥

OD,ya8 dga Wya (Y

bl Gl L gole (536 (5,55l (cusy o (F

o gas il 5 el oSl (5 9a B (p0liy ol S p 50 (53131 —5F B
25 o Glgises 09l s b s eslaile: e ) g, slpoli] O
08B crge 4 e 0,5 s g e 1y ol 31 ol3T (Y
2515 5ol pl ulzme g b €(golil cer Plisl (28,5 )3 Jlas 10 g0 50 (F

| uw.L"u ws..aa l) C}Jjé &> 56)5}5 L;Lq{';l%.\;u JLQ&‘ 9 uyb g0 A «6&‘)1 k.A-L&J » (f

P L) ﬁm_fbg
S e ) st ey Slgiee 938 lae (5238)5 Sl 0 b il e a5 e 5o ()

A 5o 5 i |y et slg sl il om anlss 85 ey o (Y
S Ll 1y T logean g eyt |, (oo il e (a5 (glasel (¥
S oo et omll 9B Sale, L) LSS gt Sledd g 093 s 4 ) pllas codae ansiis gee slael (F
oot iy i (5 500y eyl i (T (LT g (ool (595 3 ol <23 ) hane (L0955 L
Usias ol i ggian solows ypal 1o s 3 Tl )T sliel col 158 oyl aalad 5 Dol 51 glos 4y Galige i) a5 b 51 ()
e L 1y ol g0l o s o Ay s o] csliae] el (auslons ol) B (gl ] o i
syl plas jo Lol ccwl IS 0acld (pl Jsoio 33 oy lawly ol odile ;8 dicginn guliw j5el jo cdls 5l f}!}.pl ol g 23, slasl (Y
el o 1y 5y plin B3I L gl g0l 50 s 3 Toilh 5 Lo e pulime 4 bl 3ok 51 1 5 ol polie Egmy S0 5o S
2l (ol Elad 32 g (ol sloog S 50 Sugde 3o (oollai )08 5l (510,95 Ll 4 ol 5 5] slael (¥

(ol CesS> ()18 Dy 0 Ko N ) ol el 0 SIS B ol 5 A5 sl (F



@ v 51 (ol 515 S 4y i 5 ol ko

As &gl g 9037 SY 1

funl G318 LS (5198 9975 (394 ol 39 palomo (53 g0 a7 5 -5V B

O (198 & Slgan Jlol po 3 pac 5 Gulome ot 51 13 S (s s pMel 0

Ol (slygd slael (Uladgiz ,a5 il Dol g (Eanles asljliel o gas (¥

Ot shygd (gomy Dlihas 5 5590 Wiz @yl 5 Loyl (o p (F

8 slagsb sl (F
Eal palomo 33 b BB S islos 51 5 003l JBla sl & gl slog b —5A L

ol o285 By (allae 093 cagos sloanzn (I3 L oges ol Julis 4 ponie 45 g6 (slag b ()

el oais ) yde Bailed sl (oulol (9B )3 (e9d50 Casgize g Tib @l 1 (Y

el 313 gl BB 8 B anles awgs 55, BB (koo Lt byl ol (F

Tl o0 506 o 33 (59,190 42 53 Ygane e yy by ivko T, 59 LS
el 1315 4l ] gt (¥

(3,31 ol 5 olesiel pas g sbezel ) Lolsesl (F

098 cogai (7
(e Slaaleo 8590 jo Ve &5
gl S93B oanlei b japem e, b )] slael g udoe b Slaslas o gead ()
ey edie g 4 b slissl 5l LS oo, Slasles 45T o 53 sy o ales gl 4 oliss! I ey o3l Slasles (¥
ey el gl 4 b DY e o, Slanlas a5 Sl 5 03,05 el caga 4 65k Yool asle Slasles (F

B edze cogal 4 (63l LSS slyad (gmaedi Hhal 4 Ly cconl cdalas wiiles a5 wix o el cudlosl (F

g0l g1 (olo oS> padio g as) sodo! (gl yo pudimo @ )llsi 5> 40 V) BT
olee cugai b g assls Codias glaidl 4 Ko cconl ggten ol )5 4 a8 0 LSas jlal slacl (A
3l Ol shgd slasl jpam b Gl (Sanled U5 e ke s gl & JsS5e sases sl 4zl g bl g (¥
e pelome gl 4 b YT e (oo Jlgel g ol (29,8 5 oLyl 5 (28 (F
6l sl byl y5 VY ES
oo ool e 5 gy b g las] Lyl 5 iz Sl o S el gian solli CoagS (585 ()
.wa‘)‘é 39 v [WERVY LS‘)J. Lags U,*L‘z.c o)‘l.?l l) ‘) ‘50Ua.o w5s.‘> 6)‘)5):’ &> C»Jj») (Y
ol 8131 89050 5 Crame Bide (sl edze cugal b (6500 slacusgase Jlool Lol ol (g gion (sallis CuogS (Y
ol CogS (51,8 plKin 4y Ko cnl ggien o131 £9580 slasolyl Cusgame Jles! (F
sosns Jlgol 4 221y s3lesd 3590 0 VY S
el udme g Glpg S gl 4 SS90 (21 (s5led 4 S (g9l gl (O
s yeso e Bl 4 Byo (59 S g I 1510 4 (2 5 GBI s e ssles gl (F
0 Gulome cugal 4 3l 6)9ld @ glaryl BN 9 5l ey el slals 3 50 sl byt S L (Y
ol Gelms gl & JsS 50 gl @ Ll gzl s Glngs s sl 4 JsS 90 sles o (F
1 si50 SWolKiws (s S| 591 &y 53 ratas iy Y F LS
lei oo ool S| s 5 935 (o0 Eom & (55 e o 1) IS £9550 ()
S a5 e ol (5T98 Gede 5l Bl ALES s 4 L5 8 9 8 (V
el o e 3wl Lol s 5 sl plio o (F



Ae Gyl gw 9031 ¥ gw W gl 315 S 4y iy g sl 0 A @

1) 359 b Cguan Aol T 590 40 YO &5
ey g0 S5 shygd Mol @ (85 0B (sl 5 lime ey M 4 G398 s sl lega 2 (sl BV (ped g sl ] (O
el 5LaSS 6lygd b g b O slaaalivnnl 5 g5l cdlas (lgo b 58 M5 glaaalpol JUal 3> (¥
Sy e S 4y S a0 sl s SO T il st 8B B, (s ke Sligan oS (g0 50 ulome it (T

eyl 1 g D glaaslior | Jlal 3> (LeSS lisd 5 o8l D glaaslion | Jlal 3> (udme (o3, (F

(oLl alasc! g 1o jgel 4o V5 &S
ol (BB 5o 4 abge ailad 098 puod) kS (g oS> bl 2 ()
el 1525 e lars b Spin | o 4B 035 s, 5 5B s e e 5 i (¥
S M Sl Sy b Sy | o 4B 058 oy s s analy Condia (sLH & S 03,5 e lyisni |y (526 (7
25 Jadie @il b S8s0 y5b @ (s o0 Jladil carge G L o2 s g asSlre g |y (2B (F

sl o3l i 5 oo ool 3| bloisanl U 5 ot g s Sy ol ool 1 VY B
25 sed LaolSols Jalts (Sgil (S cnl el 1) jtee (55l8 4 anzlye 3 58 DS 5 (e gl S A sl ;o (2B ()
S ol Jols Jol (nl oS anl e juias Ghslid 09 ESLo (9B 5T 5wl lsB 50 1) lges 0 oS> w8 (S el Cibge (LSB (Y
g walyS e (5l crse 4 Byo Dljlre 4 (oS> aSL 095 0
088 wd)y ygiwd Coxbas slaiBl 4y 05 oS> Ko ol ]y Bie g pine (5l 4 axxl e 35 (gl Do D jgo 10 (5,85 90l o LB (Y
5iS Je Gloas ety b D g 5l ey il
& Nlgiee 18 6T Heel 3 Ml ik £330 b (bl (9B (S D) yhe 5 (g3 alS illae D958 pyes g BBI elul (2B (F
aled 05> e 4 Dol g (S ool (18 39dle & ptne 59l @ anzl e b
el (sho oSl g (bl Cepaled g (oadl SO 31 (5 ylsly (oo @ilio (ol 115 o (Sho el e (515 -V A B
Byl udos cugal o |y Lo yetS plu b ellas glasls )l 3 slasil 5> LWT) lysds (! swlal g8 jo 5580 Blaal 4y azg5 L ()
Dgler SIS Hste eed) Cely A5 S0 seied & Jle el Sld> (¥
el 2l BB (s ) plis a5l o Sl sl Slgas Ll oS oo fere (58 1) (2,8 lalypl @y 5 LSl sgas (F
el (s plln i 5o 5 g ol Bpo Jle (o5 (F
Sl il i oyl 5l Syplos Q&S
sl ool 5y ) ool 4y ly 50l plad 53 ulims (A g 3o 3 oCen] ilsd 40 G93le (5500 plie o5 ] LBl 4 ()
ols )15 0dsl5e g (5,55 950 (sloddie (ibls Bro as g ced |y S 5 Cel ggion wylie i (¥
Sy Op3e 3 Se oo ] sl ples S g (smlal 53 5l ()l 5 Cdgians plie )3 j900 el (F
el oslsl g6 i il e ol aillas ¥y Jlal plie 10 Lol el (g5l p0p0 L3l K30 b Yool puilsd ply jo e, (F
ot gilE o3 Sy 5| Sl wlial (o33l oSy 51-A+ S
latslon (nd plie )3 (68 plie it Suol Cualel g yal dillae Co¥g JL5 ) (4SLES g 4y y200 aiie) Al an g8 aSiul 4 a5 L ()
el )l 1y b Pl g (18 659 3> pllas Coxbas (antid gezme b O g I G pllas IS
sy ol 020 oz gl 4 5 02l aly 39 45 0T byt & i Dl 0590 50 Ko sl yian Vsl (5550 sl i (¥
g alyE aaSlrs BB 1555 e Sl Lawgs ail ciliie 353 ST i e suslsl (058 (62 Eudyinns liy) plis 1 y3gaz esdy (F
w3 )3 09,5 b o8 adlis LSl o 1) gt (slotzl Clgip a0 je ConSl b S Gl | 30 g9, Slasalil 3l B (olie g (F

(SA105) e G0

...... Led a5 Cowl duils g0 (Boio Jos (3] GAS dBS co Cuwd 4 B I o (yelE IAY cobdfsé.g.)ﬁé.’b)g_/\\g
WS oo g ol ()
23,5 o (Bed Comased sl cely (Y
S o blal ) T Sl b 5 aylei o ol yis 992790 agas o (¥
5in ol 4 o 3l o b glisil G ol b 5 Jlo Sy Siled g (F



@ A 31 (ol 5 S 4y it sl ko Ae Gl g (590 3T &Y 1w

----- A4 sl A g M 515 I 1 S plS il (S g Crpad Blxd 51 —AY S
Gy als LSy (F J& g Joo gaine (¥ b (Y Sas (A
........ Bl 55Y A A s A il g s 40 —AY BT

sl os)S bys bislro |y o aelan ()b 51 o> 285 aalgs ()
il 03,8 by il po 1y T alelas (bl o) e 0285 salyss (¥
il 0,8 byt balio 1) o G5 alelee ()b S S 2d 5 salyss (¥
il 03,8 by lizlpo |y o B alelas by 51 i 0285 sl (F

..... 2 b oy e g ol 39l (505 50 & G 3 03 5y & o (pB) s AP S
20,5 oo Frndice plaS ;2 Dgd L (Y D9 gad Jouie 5l g3 b Lol 00,5 co Frudine (505 50 ()
D9l god Joie plaS o g8 L (F 30,5 50 Frmdine Sy po g8 b (¥

OHlws ol e 4o p 3o Jobemo (il 095 3l nd (6,500 Pl 890 o (S Cad g BT PB4 eild o0 4@&;{-/\&5
§33 1y ol (o €390 o 2 0yl ool 51 S plasaily g0

S Sl el Fguna (¥ Sodgias Saow ()
ol D98 Syge 50 Joree atd (U5 (F Jsime ot ols plie (3B (F

Saily gad Lyl o (521 8503 30 3390 pINS kibly iz (slayl b (51,10 45 1,5 G0 1y (Jgudd i wilgi om0 30 o (5L, —AS LB
Al 35 4 Fgrmme Glgien o3l (O
bl a2l 1 055 lgel 1o 06y el o a5 a3 S50 Wl o 530 0 el Bok> e Sy o3lzl S Lol 51 (Y
e el Joad alolas 83l wuad 4y 5 coSIbe (ylgie 4 ol Sk sls, (F
(ol y3b dolgz g 7 po oo 4y olgS el elel Wl Sle (slo; AL s (SIS DgS g SbL 5L, (F
Sl S oy e g oo 50 g1 SLE! 51 Sy plas —AY &S
Bl I ol i Corge 4 Cead s oLl ()
Bl oa (LB1)5 g 31818 55008 0)lg Blogl (nl 4SS50 40 alelas 3550 5092 5o 5 (2 Slogl o olial (V
lolas 0,50 (505> Blogl yo ol (Y

5L ke sdes cle o) Coad &5 500 0 alolas Byl s 4o oLt (F

sl o 4535 pINS (61451500 i) il (ylon 310,158 50 ki £98 (Lo o o yie g b L1 53 AN S
wibios 53 4 b Conl oo oads Winie Slom! liiel Ge o (6 e 3l i e LT a8 ol ol anseis o siie g48g oyle) craets ()
4ol 5l e o lakiss b1y sl cnl 5 les Jgoe 955 Jsed 5l abasnd (ol G )8 51 Gty B Wlsion BB (58 51 Dbl )l ooz loz o (Y
oy crge (BT 4
Dy O)go e g8 b plosen uSIle Jlanil ¢ ol (Selos ade o (F
RYIRY ‘5';1..@1 ooy 5o ouiled o les Ll sl aae £935 Loy (F
~~~~~ a1 5 ol G923l 50 Tblgod (bl 831, 4y 1 53 o yio i 313590 ol —AY S
olod oo slis] sagee 2 o3l gas ()
DS (595 )8 axrsi 950 abolae g (¥
Sy gline g ams I8 whe olinil Gloj o 1) 295 Wb Sl wiS a5 wend 12l Gloj b 05> ygae (o 4 b (2B ol i (6 (F
b o wilesls oo lay wde slasil loj jo ond,b
Ty Sl 0391 b b Canlgs 3,90 Lo g Ladly a5 sl 280 oo 3 b (5B ols )3 i alSin & (F

fibly g0 o 5 iy 3 3 SyplaS Jgud b byl 40 -4e L
Sy a e il s 55 o8 S (530 5 U3 bl ol (s Sl blis ST ()
el e Eomo by s 5 Dol ye i (¥
g ot J3oVIsle 0T 550 5 500 S5 %08 5 90,5 el 5 i1l S s sulacse 0,1 Sl &1y 055 BT Wiy oSOT (sl Joed
A3k byl g adie g Blhe il 050 de Sliail o a5 T (sl Joe (F



Ae Gyl gw 9031 ¥ gw W gl 315 S 4y iy g sl 0 ). @

Sy o0 sl & i (gly2 3 56T 3950 Al o 50 00f CaroSlo ol 51 aS Coml (gl 323 9,130 I Syplas 21 B

basls, 3 golyT Lol (F sie alalll 555 ol (F laols |3 o8 alo, ol (F i (glgioms et o s30T ()
i geamo iy 35 oIS Jlainl 3 3leo 09 b LS 5o AT &5

iloo polaels (slasdly 4 atly eyl 5l (S s Sgu b vy Lo Jloil e s ()

ol plaali (lasdly @y anly 5 byie sde e BT S Blae i o (F

Ao sleds 4 o 5l Lol (emd 5 009 Pgre dshie Golas jl Jleis] wae (¥

b @8y Blee O g0 4 Gl |y (Slre i add (F
el g | alolen (ylgf ood oo ol Sl &1 59l (3130 a5 ubs 2 5590 plaS yo Y &S

oSS b el (g pal (58 45 098 y0 5 5 bl Wle (8 L s ST()

el S £gbge Cali il alaly 4 )] Sei g 48,5 18 alebes 550 6,508 Jlo a5 alSn 4y (¥

A3k oy 0,50 elB b aae clle a5 g0 o (V

Byl oyl bl aal b ool odlel aS 058 oo leol a5 (68 )50 4o (F
il IS 31§ Alinn 15 s oS 53,5 (59 (a4 15 Caboleo £ 390 595 53 oL i 55 ,F1-9F &Y
&y 31 0T iz 45 29 o0 polre alalan 31y (g Consl Tyt oo i 45 y9ad (0l L WS (o0 ()15 e (o 41 ) Allsis BB S (oot
aloleo oy ol 0599

ol Fend LB (F el Q86 8 (Y Lol gases (¥ el JbL ()

39330 ML (33 )5 Coguro Sgud ALBIAT 1y y 4y 4yl 3 S Jlo (3T g abd oy 1) Sz Jlo dule bg pinn S g b,&@qic)aelf,a_iaz

S8 s 4y Jle e b dpaie (Jg conl oy (Y 20,8 o0 Jbb (A
W0 8 salex AL e (F WS Fed Wilgi oo aldog i 1) (Y
..... e Bl sy ool kol (gl b T 31 Ll 45 35,5 wic ¢ pudgo Wilgi o0 3w o Ly Sgie 3l Syplas o a5 &S
YoV ans(F waby (¥ ale (1 P20
......... Connd (A 5 b g1 T390 1o 1wyl Siloj Az o B 1 Ly S Gl 5 0398 o alolrn 5 yg90 olF AV &S
adlas yloj (F ade olassl ylej (¥ @l ooy (Y Bl lo; ()

ekiE g g5 3 ol 5 olicdl AN S

.O)ji‘soi\))lj&Q]WAe(r JJLW‘SQ@JJ?@‘)Q](\
il S o Jbb | alelea (F Dgd o o] dgi5 pae el (¥
......... il Fmsl st g 390l 31y 3,190 51 Ky plas 224 &S
a.\.ui UL") 6‘)" »..))13‘ (f FUR\s ul.a) Lgl)" »..))13‘ (\" o.\.u" UL°) L_;‘)J 4:>5) (Y PUVRLY uLo) (_g‘).n 4}5) (\

Sl a1 sl 35 | Splas Ve LB
ol alolae 3585 pas e 55 il elelaia 5l é )l asd Gy 5l ST ol ST()
29 @ly lalate 5l ()5 et ik ) ST S alalas 35d5 pas cga ol ST(Y
g wly Colalata 5 Sy G,k 5l a4 Coul alales 358 pos crge By Laih ol ST (Y
9l @ly Hhelae 5l e (2B (st Bib jl a5 sl alelas 395 poe cge (89 dadd ol ST (F
ol s e g 1328 Lo LT ki @yl e 43 sl Jmngfl (oS s (b oy il 2 51000 5
sl 03,8 Sy slome zd e po 1y 0T 5 00 jeall S5y Jragil o) WS ol Ayl Se el (O
Sgei bgye ol 4 plgi ool 45 039 ()5 Aol i Jlens o]F wiS ol aSil Ke el (F
el 03,51 Jos 4 T 6 Il o 1) a3Y Llisl S cgli al Ka (7

S Sl laes gyl o 1) ol eads cass L a5 S yse ol (F



